Kaki Bukit AutoHub 2 Kaki Bukit Ave 2

#01-17 / #01-18 /Heavy Vehicle #01-08 / Spray Painting #02-27 Singapore 417921 Tel No. : +65 6842 0051 Fax No. : +65 6741 0510

E-Mail: sales@n51.com.sg Company Reg. No.: 200714616M GST Registration No.: 200714616M

LEONG JIAN YI BLK 453B FERNVALE ROAD #13-523 SINGAPORE 792453

Contact: 93803875

ESTIMATE

Repair Code: CLM15304

Date in: 10/09/2021

Vehicle Num.: SMU7641P

Model: TOYOTA SIENTA 1.5 CVT ELEGANCE

Chassis/Eng#: MHFZ28H3700050722/2NRX275114

Parts and Labour Assesment

Description of part	Qty	Unit Price	Amount
AIRCON CONDENSER Derte	1	1579.60	1.579.60
AIRCON CONDENSER SIDE GARNISH Dela	1	47.10	47.10
FRONT BONNET Briefe Ld	1	653.70	653.70
FRONT BONNET INSULATOR MAT MC ~	1	281.10	281.10
FRONT BONNET INSULATOR MAT CLIPS & C	5	3.00	15.00
FRONT BONNET MECHANISM LOCK Dend	1	135.60	135.60
FRONT BRACE PANEL	1	149.40	149.40
FRONT BUMPER	1	481.90	481.90
FRONT BUMPER FOGLAMP L/R auld	2	454.80	760 909.60
FRONT BUMPER F	2	145.95	291.90
FRONT BUMPER REINFORCEMENT Device	1	399.50	399.50
FRONT BUMPER SIDE RETAINER L/R W	2	58.10	116.20
FRONT BUMPER UPPER RUBBER SEAL MM	1	48.80	₹ 48.80
FRONT GRILLE Comb	1	771.25	771.25
FRONT GRILLE 'LOGO' EMBLEM	1	79.00	79.00
FRONT GRILLE RETAINER BRACKET	1	74.70	74.70
FRONT HEADLAMP L/R Could	2	3434.60	6532
FRONT HORN (HI & LOW)	2	134.80	269.60

Kaki Bukit AutoHub 2 Kaki Bukit Ave 2

#01-17 / #01-18 /Heavy Vehicle #01-08 / Spray Painting #02-27 Singapore 417921 Tel No. : +65 6842 0051 Fax No. : +65 6741 0510

E-Mail: sales@n51.com.sg Company Reg. No.: 200714616M GST Registration No.: 200714616M

LEONG JIAN YI BLK 453B FERNVALE ROAD #13-523 SINGAPORE 792453

Contact: 93803875

ESTIMATE

Repair Code: CLM15304

Date in: 10/09/2021

Vehicle Num.: SMU7641P

Model: TOYOTA SIENTA 1.5 CVT ELEGANCE

Chassis/Eng#: MHFZ28H3700050722/2NRX275114

FRONT SUPPORT PANEL Pers	1	1156.10	1,156.10
FRONT SUPPORT PANEL LOWER SIDE GARNISH L/R	2	47.00	94.00
FRONT SUPPORT PANEL TOP COVER De Lo	1	145.80	145.80
FRONT SUPPORT PANEL UPPER SIDE GARNISH L/R De C	2	57.00	114.00
RADIATOR ASSY (AUTO)	1	2197.30	₹ 2,197.30
REAR BUMPER Distilled	1	416.00	416.00
REAR BUMPER CENTER PROTECTOR GARNISH DIVILLA	1	207.00	207.00
REAR BUMPER FOGLAMP CML	1	65.90	65.90
REAR BUMPER FOGLAMP COVER Could	1	234.30	234.30
REAR BUMPER REFLECTOR L/R Culd	2	85.00	170.00
REAR BUMPER SIDE END SEAL COVER L/R	2	81.00	← 162.00
REAR BUMPER SIDE PROTECTOR GARNISH L/R	2	151.00	302.00
REAR BUMPER SIDE RETAINER L/R	2	90.00	180.00
REAR BUMPER TOW HOOK COVER	1	25.00	25.00
REAR DECK TOP TRIM BOARD De Loc	1	686.00	686.00
REAR END INNER PANEL & Distanted	1	696.30	696.30
REAR END OUTER PANEL	1	433.60	433.60
REAR END PANEL KEY ANTENNA SENSOR Soushed	1	127.00	127.00

*** This is a computer-generated document which requires no signature.***

Kaki Bukit AutoHub 2 Kaki Bukit Ave 2

#01-17 / #01-18 /Heavy Vehicle #01-08 / Spray Painting #02-27 Singapore 417921 Tel No. : +65 6842 0051 Fax No. : +65 6741 0510

E-Mail: sales@n51.com.sg Company Reg. No.: 200714616M GST Registration No.: 200714616M

LEONG JIAN YI BLK 453B FERNVALE ROAD #13-523

SINGAPORE 792453

Contact: 93803875

ESTIMATE

Repair Code: CLM15304

Date in: 10/09/2021

Vehicle Num.: SMU7641P

Model: TOYOTA SIENTA 1.5 CVT ELEGANCE

Chassis/Eng#: MHFZ28H3700050722/2NRX275114

REAR END PANEL TOP GARNISH Could	1	207.00	207.00
REAR EXHAUST ALUMINIUM HEAT SHIELD Propled	1	109.70	109.70
REAR EXHAUST SILENCER BOX Best	I	856.50	856.50
REAR EXHAUST SILENCER GASKET	1	53.40	53.40
REAR EXHAUST SILENCER RUBBER MOUNTING ME	2	61.10	122.20
REAR FENDER INNER TRIM BOARD L/R culd	2	709.00	1307 1,418.00
REAR FENDER OUTER GARNISH LIR RIN CILL	2	581.90	58/.501,163.80
REAR LH THIRD SEAT FRAME GARNISH Could	1	78.50	78.50
REAR LH THIRD SEAT FRAME TRAY Best	1	755.00	755.00
REAR LUGGAGE COMPARTMENT TRAY	1	423.10	423.10
REAR LUGGAGE COMPARTMENT TRAY TOP COVER	1	255.60	255.60
REAR RH BODY END MEMBER REAR RH BODY END MEMBER	1	981.10	4. 981.10
REAR RH FENDER REAR	1	720.35	X. 720.35
REAR RH FENDER AIR VENT 24 Lac	1	47.30	47.30
REAR RH FENDER INNER PANEL	1	1062.90	1,062.90
REAR RH TAILLAMP OUTER PANEL Dented	1	148.20	148.20
REAR SPARE TYRE RETAINER LOCK NN	1	84.60	** 84.60
REAR SPARE WHEEL LOWER PANEL 14	1	226.40	226.40
The second secon			

*** This is a computer-generated document which requires no signature.***

Kaki Bukit AutoHub 2 Kaki Bukit Ave 2

#01-17 / #01-18 /Heavy Vehicle #01-08 / Spray Painting #02-27 Singapore 417921 Tel No. : +65 6842 0051 Fax No. : +65 6741 0510

E-Mail: sales@n51.com.sg Company Reg. No.: 200714616M GST Registration No.: 200714616M

LEONG JIAN YI BLK 453B FERNVALE ROAD #13-523

SINGAPORE 792453

Contact: 93803875

ESTIMATE

Repair Code: CLM15304

Date in: 10/09/2021

Vehicle Num.: SMU7641P

Model: TOYOTA SIENTA 1.5 CVT ELEGANCE

Chassis/Eng#: MHFZ28H3700050722/2NRX275114

REAR SPARE WHEEL PANEL Buckerd	ī	778.70	778.70
REAR SPARE WHEEL PANEL TOP CROSS MEMBER BUT	Ī	423.05	423.05
REAR SPARE WHEEL UPPER PANEL	1	597.00	597.00
REAR TAILGATE Distorted	1	1131.90	1,131.90
REAR TAILGATE 'LOGO' EMBLEM 7	1	79.40	79.40
REAR TAILGATE 'SIENTA' EMBLEM HEN	1	58.00	58.00
REAR TAILGATE 'V' EMBLEM	1	39.05	39.05
REAR TAILGATE DAMPER L/R Damage	2	225.00	450.00
REAR TAILGATE HINGES L/R Bent	2	78.00	156.00
REAR TAILGATE INNER PULL HANDLE	1	38.00	38.00
REAR TAILGATE INNER RUBBER GUIDE STOPPER L/R	2	19.00	+ 38.00
REAR TAILGATE INNER TRIM COVER deformed	1	208.00	208.00
REAR TAILGATE MECHANISM LOCK	1	265.00	265.00
REAR TAILGATE NUMBER PLATE LAMP L/R	2	68.00	₹ 136.00
REAR TAILGATE OUTER GARNISH Could	1	229.40	229.40
REAR TAILGATE OUTER OPENER GARNISH	1	179.10	179.10
REAR TAILGATE REFLECTOR L/R DZ d	2	281.00	562.00
REAR TAILGATE WEATHER STRIP	1	385.00	385.00

Kaki Bukit AutoHub 2 Kaki Bukit Ave 2

#01-17 / #01-18 /Heavy Vehicle #01-08 / Spray Painting #02-27 Singapore 417921 Tel No. : +65 6842 0051 Fax No. : +65 6741 0510

E-Mail: sales@n51.com.sg Company Reg. No.: 200714616M GST Registration No.: 200714616M

LEONG JIAN YI BLK 453B FERNVALE ROAD #13-523

SINGAPORE 792453

Contact: 93803875

ESTIMATE

Repair Code: CLM15304

Date in: 10/09/2021

Vehicle Num.: SMU7641P

Model: TOYOTA SIENTA 1.5 CVT ELEGANCE

Chassis/Eng#: MHFZ28H3700050722/2NRX275114

REAR TAILGATE WINDSCREEN MOULDING L/R	2	45.00	90.00
REAR TAILGATE WINDSCREEN SEAL (TOP & LOWER)	2 27725	45.00	90.00
REAR TAILGATE WIPER MOTOR	1	855.00	557 855.00
REAR TAILLAMP L/R Dand	2 204/8	425.00	850.00
REAR TAILLAMP LOWER BRACKET L/R Could	2	83.10	166.20
	Subtotal before discount		37,103.90
Percentage discount 25%			9,275.98
	Sub-total 1		27,827.93
FRONT BONNET RUBBER MOULDING MM	1	90.00	90.00
RADIATOR COOLANT	1	60.00	40 -60.00
REAR BUMPER CLIPS - SET	1	50.00	30 50.00
REAR BUMPER REVERSE SENSOR Du d	1	350.00	2 0 350.00
REAR FENDER INNER SHIELD CLIPS L/R - SET	2	40.00	20 -80.00
REAR FENDER INNER TRIM BOARD CLIPS L/R - SET / L	2	50.00	60 1.00.00
REAR RH FENDER GLASS SEALANT MM M	1	50.00	₹ 50.00
REAR SPARE TYRE MM ~	1	280.00	£ 280.00
REAR SPARE WHEEL PANEL INSULATOR MAT	1	280.00	280.00
REAR TAILGATE INNER TRIM BOARD CLIPS - SET	1	80.00	\$ 80.00

Kaki Bukit AutoHub 2 Kaki Bukit Ave 2

#01-17 / #01-18 /Heavy Vehicle #01-08 / Spray Painting #02-27 Singapore 417921 Tel No.: +65 6842 0051 Fax No.: +65 6741 0510

E-Mail: sales@n51.com.sg Company Reg. No.: 200714616M GST Registration No.: 200714616M

LEONG JIAN YI BLK 453B FERNVALE ROAD #13-523

SINGAPORE 792453

Contact: 93803875

ESTIMATE

Repair Code: CLM15304

Date in: 10/09/2021

Vehicle Num.: SMU7641P

Model: TOYOTA SIENTA 1.5 CVT ELEGANCE

Chassis/Eng#: MHFZ28H3700050722/2NRX275114

REAR TAILGATE NUMBER PLATE	1	25.00	25.00
REAR TAILGATE NUMBER PLATE HOLDER	1	50.00	3 0 50.00
REAR TAILGATE OUTER GARNISH CLIPS - SET	1	30.00	10 < 30.00
REAR TAILGATE REVERSE CAMERA 2 d	945 1	800.00	4W -800.00
REAR TAILGATE RUBBER MOULDING	1	90.00	50-90.00
REAR TAILGATE WINDSCREEN SEALANT	1	60.00	60.00
REAR TAILLAMP CLIPS L/R - SET	2	30.00	20-60.00
	Subtotal before discount		2,535.00
Percentage discount 0%			0.00
	Sub-total 2		2,535.00
	Parts-total		30,362.93
LABOUR			
			^2

To remove, change air con parts, vacuums, refill air con gas.	120 -150.00
To reset system after repair works	280.00
To remove, reinstall electrical wiring harness, check lighting and rewire for parking sensor.	60.00
To remove. reinstall tailgate windscreen	1 20 150.00
To remove, reinstall fender glass	120.00
To remove, reinstall rear suspension and undercarriage part. (to FR)	250.00
To remove, reinstall roof top trim upholstery, cushion seat, trim garnish, trim liner carpet. (to FR)	100 150.00

*** This is a computer-generated document which requires no signature.***

Kaki Bukit AutoHub 2 Kaki Bukit Ave 2

#01-17 / #01-18 /Heavy Vehicle #01-08 / Spray Painting #02-27 Singapore 417921 Tel No.: +65 6842 0051 Fax No.: +65 6741 0510

E-Mail: sales@n51.com.sg Company Reg. No.: 200714616M GST Registration No.: 200714616M

LEONG JIAN YI BLK 453B FERNVALE ROAD #13-523 SINGAPORE 792453

Contact: 93803875

ESTIMATE

Repair Code: CLM15304

Date in: 10/09/2021

Vehicle Num.: SMU7641P

Model: TOYOTA SIENTA 1.5 CVT ELEGANCE

Chassis/Eng#: MHFZ28H3700050722/2NRX275114

To re-spray painting on the rear bootlid, rear end panel, rear fender (L/R), spare tyre panel and rear

To re-spray painting on the front bonnet, front support panel, front fender (L/R) and front bumper.

To remove and change exhaust silencer box with pipe, re-align where necessary consistent to the

To provide labour, workmanship to change the above damaged bodyparts, repair, re-construct and realign body structure, body alignments and damaged consistent to the accident.

To mount vehicle on to Car 'O' Liner.

To apply anti-rust chemical on repaired and replaced panel.

To remove, reinstall tailgate mechanism and check for function

Labour Total

Parts & Labour Total

1800.00

600 1,200.00

80 120.00

2200 3.000.00

150.00

80.00

7,810.00

300.00

38,172.93

*** This is a computer-generated document which requires no signature. ***

page 7

LKK Auto Consultants hence notify the Repairer of the following:

- To resurvey before/after spray painting To display damaged part(s) during resurvey
- Parts prices are subject to confirmation Third party survey is on a "Without Prejudice" basis
- No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer

Signature:

Date: